Name:

Block:

Expand and simplify: (fip + 352 — )

a. 30p®+ 2lp—- 18
b, 30p* - 21p - 18

Expand and simplify: {8g— 3)(7- 3g)

a. —24g° + 65g - 21
b. —242% — 65— 21

Factor: 25x% + 58x+ 16

Factor: 244% + 50k — 14

Expand and simplify: 3{1— 2:)(% + 4£)

a. 244 y 4284+ 27
b, 244 v 662+ 27

Factor: 4 — Sz — 13z°

Factor; 180 — 175z + e

2.4 Assignment

C. 30p+5lp—18
3p® - 51p— 18

C. -Z4g®+47g-121
24g” + 65g - 21

C. —72* — 126+ 21
d. 244 —42t+ 27



8. Expand and simplify: (11¢+ 2)(4: - 3)

9. Factor: 22n° + -5

10. Find the area of the rectangle.

5b -6

3b-2

11. Factor: 5x° + 17x + 6.



10.

11.

e AR

3.6 assignment
Answer Section

MULTIPLE CHOICE

ANS: B
ANS: A
ANS: (25x+ 8)(x+ 2)

ANS: 2{4b- 13{3b+7)
ANS: D

ANS: {4-132)(1+2)
ANS: 5(4 = 3a)(% - 2a)
ANS:

448 — 2566

ANS:
(lle-502n+1)

ANS:
Use the formula for the area, 4, of a rectangle.

4=5b(3b- D+ (-6)(3- D)
A= 150" —10b- 135+ 12
A=158%—28b+ 12

The area of the rectangle is 158% - 28h + 12 square units.

ANS:
5x2 4 1T+ 6= (x+ 5%+ 2)



